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0�12 ��34� 5 6
�7 8��� ������ 0�19�� �
:�;� ���<�=�� �
:�>� ����?@
�� "#�$A��B C��D E�;THz 283 F=G 8��� 

HI�	
�� ��I��� 5 J�K
�L7 M;.  
  

 M+ �N�N��!�� �4�$74� ���O,�4�$7�� C���� �����  

  ���������	
�� 
   

; (  N P�;
�
I4 Q�RK
�� H
S� 0�19�� 5 �N�N��!�� �4�$7�� ���7���� �
:�T� U�V 5 �4�$74� ���� U�V 
�	R�� 5 ����!
V ���<�=�� �N�N��!�� �4�$74�� ������W!$��� ��!
��  THz 283X  

Y(  Z[ M����N &�9�� 0�
�\ M; ]�
�
�� ^!2�1
� _��� 0�@�� �`N�a� ��[����=
�� ����R
��V�=���7 0�![+� ��
b�R�� F� H�	�� ��� 5 ��c�!�X  

d(  Xe!%; ��#�12� ��f�; ����% 5 _�1N; J�K
�LN b�R�� F� H�	�� ��� M;  
 �(  M;X�N�N��!�� �4�$74� gh e!%; ��\���� ��
�\ E�!hT _�1N; J�K
�LN b�R�� F� H�	�� ���   
 �(  0�19�� 5 ������� 67����� ]V 6%��
�� ����i M; j�2 ������� &�9�� H�\ �
:�; 6`� F� ���9��� �
:�T�� ������ 

THz 20��!
��V k�A� b�R�� F� 0lm� 5 ����n� F\ b�
o M; F=G ��N�N��!�� �,  

  ����� ���  

1  M�V Hc!��78 ^���� F� 12 �N�N��!�� �4�$74� p�R	� �9�q� *+ g@7 �4�$7�� C���� ���4� ��
I� F� 

1
7 ,F..."  �����7 ��

\�� ����!
�� e�� �N�� M�� F� ��I��� 0�![+"...X  

2  P��V-?��N  �:D��� s[�t 2 Hc!�� F� 1005 M; ��I����� M�u�� ,�4�$7�� C���� ���4� ��c�97� vw�� F� 
 x�R$� y
�7"W�N��� S�$7� " j�9N ����R�?�!Z< ��[�t �		z� �4�$74� _�1N; 6
@N9�{ �ZGHz 3 000 5 !@
�7� ,

X^�N�[ �����7 |N��@� }��w
I� �; �Z
I��� 0�![+ e�� &���� -\��R�� ��!� M�� 0�19��  
3  ,���4� 5 �N�N��!�� �4�$74� p�Rc 6%�� ����� �I��� ~���LN � b�R�� F� H�	�� ��� HI�	7� S�
�
I� M;  

 �������   

1 � 67��I ~��7 8�� HI�	
�� ��I��� �%�76
�7 8�� ��#�19�� }�w��5  ������ 0�19�� 0�12 ��34� 5B E�;
 C��DTHz 283 ]	w��� 5 ����	�� ����?@
��� ���	
�� ��
���� �����
\� 5 ,1� 2.  
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1  ��
��  

W�N��!�� b�R�� S�
�
I� ��\ Q?1�� ��N��� |�,���N ��[����=
�� J�	7 |�� 
I4 J�

�4� F� �Nl� � j�2 ����!
�� S�
�
GHz 3 000!a� 0�19�� 5 �N�N��!�� �4�$74� 5  . ��!
�� ��c�R� 5 ��c�� �	�	D �N�N��!�� �4�$74� ���� �w��;�

 j�2GHz 3 000 5 _���$%� �N!$��� ����T� �4�$7� S�� 5 �Z��� �`N�a� ��[����=
�� ����R
�� F� g`=� �u�
�< 
 �l���� S������=7����	
���� 6�=@
�� ��[ . j�2 ����!7 S�
�
I�V !a� 0�19�� 5 �N�N��!�� �4�$74� �\�R
I��2
GHz 3 000 �4���� H\������V  ����\ �
< |�� s�=�� ����R
� ����7 F\ _�12 ,�N���	
�� W�N��!�� ��!
�� �
:�; F� 6c; 

���A� ��	��R
�� 5 ��
�
��� Jla�V ���A� ����34�������� 0�19��V .  

1.1  ��		
���� ���
� ���������  

 j�2 !a� 0�19�� 5 �N�N��!�� �4�$74� ����V J�

�4� H:�� l<!
NGHz 3 000 ����!
�� S�D C�a� �c��� 5 200 ,
�283� 311� THz 353

1 �. ��V�	�� ��[��� S��{; ���7 8�� ,1,5� 1,06� 0,965� 0,850 µm_��N!	7  .��� -� ����!
�� �
�N!$��� ����T�V �4�$74� 5 j�R� |I�; ��\ ��
�
��� ����!
�� �9� . �N�N��!�� �4�$7�� ������V J�

�4� l<!N�

0�12 ��34� 5 ������ 0�19�� 5� ���<�=�� B �N!$��� ����T� H�K1� S�
�
I� ��\ E�;Ytterbium-doped (Yb) S��t 
µm 1,06 6�=@7 5  HK1� -��#� Y�V�� ^��c(MOPA) �l����� Q-switched� , Neodymium: Yttrium 

Aluminium Garnet (Nd:YAG) �; Neodymium: Yttrium Vanadate (Nd:YVO4) S�D 6
�7 8�� THz 283 
(µm 1,06)S�
�
I�� ������ �
Z�� ����R
� _���7 e!%; ����!7 S�
�
I� F=G M�< M+�  Yb� Nd:YAG� Nd:YVO4  ��

��c������ !��
�� s��V -I�I; S�
�
I�.  

2.1  ������ �������� �������  

 ���<�=�� J�Z�� *+ 6%��
�� ����w
� ��I���� ���	
�� ��
���� ��
�7 M; -?��N�Z[��� ��\��
��W!
@��� �N!�� *+  .
��c��� ��Z
I�� M���� F� �D ��; *+ 6��	
�� E�!hT�,M; ������ -?��N  ;��7 8�� W�N��!�� S�$74� ����R
� H�\�7 

��2�f+ �N�N��� �4�$7� �
:�; *+ �[�a� 6R�N �� �
Z�� ^�� S��{ !

�7� j�{�� F� ^g$c ^!
2 ��V . ��I &����
 ��=�2 ���D� ^�\ *+ ��!
����=�� F� ����c �4i F� ������ ��2��� b�
o(2AU) . b�
o�*+ E�T� F� ��2���� 

 F� W!
@�� �; �N!��0,5 *+ 6,2��=�2 ^�D�  . S��m� 5 �!N�1 ����� ��I�IT� ���	
�� ��
��
�� "K�� THz 283 5 
0�12 ��34� 5 6
�7 ������ 0�19��BE�;.  

2  ����	�� ����
 �
������
  

0�12 ��34� 5 6
�7 8�� !a� 0�19�� 5 ������ F=GB ��\ E�;THz 283
�7 M;  �l���� 6
�Yb ,Nd:YAG �; 
Nd:YVO4 . Y�=���7 F� ��la� 6I!
I�cm 30 -��2 !R	V E�T� ��\ Y�=���7 �Z��	
�N� ��#�19�� ��<!�� �� ��\ 

 ���Nm 4,2 *+ m 10.3  
  

                                                      

1   THz 1 = GHz 1 000.  
2  km 149 597 870 ≈ AU 1.  
3    ���� ��� ��	
�� �
 ������� �����THz 283������� ������ ���� !��"��#�� $%� &.  
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 S��m�1  
������ ������ � �����
! ����� ���"��� �������  

 #$��%		
��� � THz 283���& '�(�� � )*�+  

������ ,-
�� .
�/�� 

6�I!�� ^��c W 5) QI�
��(  
6�I!�� �w
2 cm 30 

 ��!7)�[�� S�{ (6�I!��  283 THz 

(µm 1,06) 

6�=@
��   ��1���� |c�� 6�=@7(PPM)  
)= M 64 *+ 256 (6���
� g9@7 |�  

�N��
�� �c� 0,35 µrad 

e���  0,5 *+ AU 2,5 4,2 *+ AU 6,2 

���R��� S���)  ��\ J���� 0���;
-f�T� ��!R��((1)

 

3 *+ Mbit/s 30  
)m 4,2 ��!R�� 

-f�T�(  

1,5 *+ Mbit/s 3 
) ��!R�m 10(  

6��	
��� �w
2  ��I��2�=� � 4,2 *+ m 10 

��@=�� Q�   F� �9�9�Y��I; Geiger  
InGaAsP/InP APDs 

Y��R�� ������ ����  2 *+ dB 3 

(1)  $�����'�(� ��)�*  �+,- /�
0 �1�� /�
 ����� ��,20 �%30 (dB 1,13).  

1.2  ������ ��	+  

 ������ 0��; ~�	N ��!
�� 5 6
�7 8��THz 283 ��
��� 5 �RA� ����� ���R��� S��� ��D F� (BER), &�' 5 P��� 
W���	
�� W�N��!�� ��!
�� b�{ 5 6
�N W��� ������ 0�19�� J�:� M�� .\�V 0��T� s�wLN� ��\��� ,^��	�� ��\ ���� ����


��Y�=���
6��	
��� ��I��D� 0�f�1��� ,��@
�4�V ���A� �����
\4�� , . ��g?
� ��\ ���� ��
���� ��� F� 6< ���LN�
��2�f+.  

1.1.2  ���0��� 1��!  

� |�O Q�1L7 ����\ W���	
�� W�N��!�� ��!
�� b�{ 5 ������ 0�19�� 5 6
�N J�:� ��% ��\ �� ��\ e!%T� �������
 ��N!c ���N!	7 �
�c ��; 4+ X��@
�4� �2��� |�V!7 |� Q�1��V -�=\ �� ��\ _��I��
� M�=N 4 ���R��� S��� M�2 ,�V��

_���[ _���N!	7 _�I��c 6�=@7 -Z2 � F�� ,W!
@
��� �N!
�� ^���� �	R�� F� 6
�7 8�� ������ F� �N�?�� . b�
K
I�
�� �4����
@�� |� �I��.�� ������ e�� &�' 5 �t ^g`< ��
��� _���7 �N!�� F� ���R� . �4��� M�=
I�

 J�\ P[�V �N!�� F� ���R��� _��N!	7 ��\;W!
@�� F� ���R��� �4��� F�.  

2.1.2  ������ � 20
� ��34  

 -?��N F� 6c; ���R��� S�7�; ��
V 5 �RA� ���� M�=7 M;6–10 ��V ����	�
I� F=G -< 0�R%T� x�w$7 . ������ -?��N�
 -	�
�7 M;%99���R��� S�7�; F� .  
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3.1.2  5�0�!6!�7�   

���!
N0�12 ��34� 5 6
�7 �<�< J�:� ���� �; ���V 0�12 J�:� ����� -R
��� ���.� s�R
�  B 5 E�;��!
�� 
THz 283 ]V 2� dB 3 .7 6���\ ��\ ������ S��DT� bc�
7� �N���� J���� F� �c���� �	R�� ,���; ��O F
f 6
@
p�97�4�.  

2.2  8�9/���  

 6
�
�
I C��D 6
�7 8�� ���<�=�� ������� ������ 0�19�� ����THz 283 ��1���� |c�� 6�=@7 (PPM) . x�
7�
 !����� b@=�� ��� 6�=@
�� ����	7)����7�9�� ���\ �N�w
�� P[� ��\� (F���	
��� 6���c  ����	
�� ��9�7 F� _4�V 6

�=I�

� .�����
� ^!9@V ��1���� |c�� 6�=@7 ^���+ ! 9@
I�.  
�
�=� J���� �c��� S�% ^�!9�� �c�{ �1�� ��1���� |c�� 6�=@7 6
�
�N� . ��
��� S�I�+ F=G�M �1��V ���R�
�� 

 ����l�� ����9�� ��!
9�� F
f _�
c¡� ��#�< ^�D�� �c�{2M�
�=�  .�LN� 6[; F� �
�=� J���� �c��� C�O+ F� 0l[ 6
�

�1�� ��\ _�c�{+ W�
¢ F�� �l���� Fw� ^��\+ . �c��� �; Fw@�� ^��\+ �c��"���� " �� _�g`< ���6`G �c� s�h; 

����\T� ���R��� �4��� 5 6��\ F� 6c; x�$N P�=� �19K�� ���R�� �4��t ��
�= . 6=@�� 5 F���7�1#�$A�  "
 ��1���� |c�� 6�=@7 ^���� ����l��PPM�£ ��$�� ��' ��I��	��� .  

  
 6=@��1  

������� :;�! 8�9/% <��=> ?@�AB  

  

 ������n  ������2   ������1 

 ������ ��	(tw) 

��
��

���
�� ��	(tp)

������� �	
���
 ��
����1

������� �	
���
 ��
����2

������� �	
���
��
����2M

������������
)����E(  

������� �	
���
��
���� 
 �����(tS) ���
��� ����� 

������ ���(tw) 

������ �!" �#�$% ��� 
 �� �����"��'�"(td) 

������� �	
���
��� ��
�2
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3.2  8"��� ����"�� <��"��  

L�I�
� 6�I!�� ¤Yb, Q-switched, Nd:YAG �; Nd:YVO4 �RI�
� ^��c ^��\���7  W 5 .����� ^��c b�
K
I� |� ^
 ���!
7 ��7� 5 M�=7 M; F=G �Z�=� ���R��� S��� ��
%�]V 30 �dBW 40 . ,^����� ^��c C�
�� 0�![�� s�¢�

Ppeak ^��'� 6I! 6�=@7 ��1���� |c�� PPM .����
�� ��
���� g2�7 Jl�N�:  
  M:  6�=@
�� 6���  
  Pave:   6�I!�� ^��c QI�
�(W)  

  td:   �c���)��c�T� ( ����)�
���(  
  tp:   �c�)��c�; (6I!�� �1��  
  ts:   ^!
9��)��!
9�� (����9�� ����l��.  

 �����1 : ,�
�=�� �c� Y��DtwS�% F� ,:  
(1) dsw ttMt   +⋅=                  s 

 �����2 : ,�
�=�� �c�R�� Y��DEwordS�% F� ,:  
(2) 

waveword tPE  ⋅=                  J 

�� ����1 � ������ ���	�� �
���
 ������ ���	�� ���� ����� ��� �� ����� ��� �!" #�$�� ���% �& '�()% ) +�Epulse = Eword.(  

 �����3 : ,6�I!�� ^��c ^��' Y��DPpeakS�% F� ,:  

(3) 
p

pulse
peak

t

E
P =                   W 

4.2  ��C�"�3�� <��=D�  

 ������ �	N!R�� ^����� �N�I Y��D 5 ���
����!
�� 5 THz 283 ���K
��� �¦�' �	N!R�� -� ��f�T� �Rz� �Z��	
�7 8�� 
�N�N��!�� ����!
�� �N���	
�� �
:�T� |�.  

(4) saprtrttS LLLLLGGPP +++++++=               dBW 

��D:  
 PS: 6��	
��� ^���+ ^��c  
 Pt:  �l���� d!% ^��c QI�
�)� �
�	�� -� ��R
��4,7 *+ dBW 7,0(  
 Gt:  6�I!�� -#��� s�<) -� ��R
��� �
�	��dB 119 ( ^!	9�� 5 6�$9
��V �c���2.6.2 

 Gr:  6��	
��� -#��.� s�<) -� ��R
��� �
�	�� ]V129 *+ dB 149 ( ^!	9�� 5 6�$9
��V �c��N3.6.2 

 Lt: 6�I!�� !#��%  
 Lr: 6��	
��� !#��% 

 Lp:  !#��%�N��
�� J�\ 

 La: A�N�m� !#���0�12 ������ S�{ ��\ BE�; 

 Ls: !a� 0�19�� ^���%.  
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5.2 �$���� 
@�3B  

������ !#��A ����; ���$� ��§ ����:  
B   ,���%���� 6�I!�� !#��%LtX6�I!
�� W!$��� ��R	�� 5 ~�=��4� !#��%� ��`
�4�� k�$
�4� ���i 6
@7 8�� ,  
B  
��� !#��% ,���%���� 6��	Lr W!$��� ��R	�� 5 ~�=��4� !#��%� ��`
�4�� k�$
�4� ���i 6
@7 8�� ,6��	
�
��X  
B   ,�N��
�� J�\ !#��%LpXS�I��� -#��� �N��7 0�I �; ��#�19�� ��<!�� ¨��7�� �; -#��.� ���i 6
@7 8�� ,  
B   ,�N�m� !#��A�La Y�!Rf4�� ��`
�4� ���i 6
@7 8�� ,X]N�m�  
B   ,!a� 0�19�� ^���%Ls�� ,8 L76��	
���� 6�I!�� ]V W���� 6$9�� *+ el�.  

�
Z�� ����
3 8�� ��D!��� �
Z�� ����R
�� ��!
\� ������ H�
$7 ��
%�V ^���K�� ��$� 6< H�c b�
K
I� . 5 �!7�
 S��m�2�� 5 �.�
�
I� ]�
N 8�� !#��K�� �D!
	�� H�	�� ��\��
�� 6%��
�� ��� . �	R��� ��� 5 W�m� ��@
�4� S���7 ©�

 ��I����� ��m �����7 5 6�$9� �� ��\ b�R�� F�3 ]
���
�� S�% F� ITU-R P.1621� ITU-R P.1622.  
  

 S��m�2  

������ ������ � �����
! ����� ���"��� �������  
���& '�(�� � #$��%) � *�+		
��� THz 283 

<��3
� ���E  ��0���� ���"�� 

 ,6�I!�� !#��%Lt 0,63 (= –2 dB) 

 6��	
��� !#��%Lr 0,63 (= –2 dB) 

,�N��
�� J�\ !#��%Lp 0,63 (= –2 dB) 

�N�m� !#��A�, La 0,89 (= –0,5 dB) ��\ º90 

0,56 (= –2,5 dB) ��\ º30 

 

 ,!a� 0�19�� ^���% s�wL7Ls 5 ,��!
�� THz 283 ����!
�� �N���	
�� �
:�T� !#��% �£ s�wL7 8�� �	N!R�� �9�V 
�N�N��!��:  

  
22

  π4 π4

λ









=







=
Rf

c

R
L
s

  (5a) 

 5 U9K�7 8����!
�� THz 283*+ :  

  
2

15
10  169,7

R
L
s

−×=  (5b) 

��D:  
  R:   -��2���� 6��	
���� 6�I!�� ]V (m).  
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6.2   �����!��93��%1�F�D� ��/"�F��1��  

 C��D 5 6
�7 8�� ���<�=�� �N�N��!�� �4�$74� ����� ������ 0�19�� 5 �N�N��!�� �4�$74� ���� 6
�
�7 ��I
THz 283 ��V�=���
 �� �����
\�VS��	
I4�� S�I�ª� ���#��� .� ��R
��� ��
���� b�
K
I�V�=���
 S�I��� ��

U�V F\ �Z1�V _�g�< _�2�
%� S��	
I4�� .V k�% s�< 6< Q� ��\ ��2�
%4� ��� !�¡
I�Y�=���
 . b�
o �
<
 ��N!$�� M; ]D 5 �\��� ��I�h ��lD ^��\ �ZN�?7 6�I!�� ��N!$V MT _�!:� S��	
I4�� S�I��� ���#��� «��;

�N�
�� !���\ ��@=� 6��	
��� . ��N�. -#��.� s�< «��; ��?� ������V�� S��	
I4�� S�I��� 6
�7 8� 5 C��D
THz 283 vw��� *+ p�[!�� �[!N ,2.  

1.6.2  
0H"��  

 S�I��� -#��� !Rc M�=N M; E�!
2� -?��N 6%��
�� ����� E�!hTcm 30 .�V ��+ S�I��� �w
2 M�=
I�  �£ �; v#�\
���I� suD 7 ���cm 3.  

S��	
I4� -#��. -��9�� !R¬	�� b�
­ M; F=G�,]V ���!
N M;� � !
� 10 ��\ ��	��R
�� H:�� ������V M�=�I P�=� ,��
�; 
 6cT�4,2_�!
�  . ��' ���#��� S�
�
I� �® -?��N ,6%��
�� ����� E�!hT�1 �4,2� 10��
�;  . �w
9� M�=�I�

 ��\ �!Rc �NlN 4 M�� s[�D ����#!�� S��	
I4�%20����#!�� �w
9�� !Rc F� .  

2.6.2  1�F�D� 53I JK  

�N 6�I!�� 6
�
V�=���7�l���� PN�?N _� . bN�3 ��; Y��I; 5 4+ ^��\ ��� �l���� ^lZ[; 6
�7 4�(TEM00) ,W��� ¤
�7 
�.�I�+ ���¯ S�{ ��\ e�$c ^�� W' �c�R�� -I�h |N��7 ��' ��lD P�\ . "	�N ����\ P�; ��® H
$� ��la� Q��

 F\ W��� 6$2 }��D |� ��la� ^�� p��7� ��¯��la� ^��c F� ����c �N��� ���� F� !`<; ����N F�2 S�I��� . 6`

7�
 ����V ��+ ��la� p��7� �
Z�2 "	�N ]
��� ]
N��l�� 5 M�
��[!� M�
R	�%37 �; %13��z� ��\ p��74� F�  . �
�7�

 M�
R	��� M�7��1/e� 1/e2% �N�w
V v��
N �
�2 �
Z��+ ��@N �� _�g`<� C��
�� ��\ �Z`V F=�; 8�� �l���� �c�{ «��; "#�$.  
 �R	��� ��\ ��la� �w
9� ����=�� �N��l�� sN!	7 H
N�1/e2-�N �� S�% F� :  

  rad
π

λ4
2
e/1 D

=θ  (6)  

��D:  
  2

e/1
θ:   ��la� �w
2(rad) 

  λ:   �[��� S�{(m) 

  D:   �w
9�� !Rc(m) 

 ��I�h ��lD S�I�+ ���D 5�THz 283 �w
2 F� cm 30 �R	��� ��\ �w
9�� ��I M�2 1/e2 _��N!	7 M�=7 6–10 × 4,5 rad.  
 ��' �N�
�� �[�� W' �l��� ������ S�°� p���+ Q� Y��a ����
�� �4����� S�
�
I� F=G ,S�I��� ��!R� ������V�

 W�?7 -I�h p��7�V�=���7_� .�!
24� *+ �4����� ��� S�
�
I� W�¡N�����
�� ��I�IT� ��f:  
B   ����
\�V �l���� ��$� l��GXY��IT� W��\ _��I�h _�`V  
B  X������ S�°� 5 -#��.� s�< «��; ~�	7  
B  �N!#�� �w
9��.  
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 ������� J��	7�(7) s�< Q� Y�=���7 b$� ,�!Rc a ���N !$% !Rc b$� �. p��74� ��I�h �N�
�� �[�� PN�?7 ,ω ,
 6`± ��Dω�  ^�@�� �R	� *+ W!$��� J�:��� -��#!�� ��z� F� �2���1/e2 ,!Rc b$� ��' ����#� suD ���I� P�� ,b .

 ,x�R$���G0^0�f�� ����u
�� �

�� gh �N!#�� �w
9� P��\ S�$a� H
N -#��� s�=� ��\T� �a� �� , . x�R$���
 ,²�`��gt ,)α ,γ ,X( ,a� !�9N s�=�� ^0�9=� x�R$� ��g��
�� J�=D+ J�\ ���i� ��z� d��% ^�@��� !
���� su.  

 dBi),,(),,( 0 ΧgGΧG
tt

γα⋅=γα (7)  

��D:  

  dBi
 2 4

2

20 








λ
π=

λ
π= aA

G  (8) 

  
2

1

0
2 de)(2),,(

2

2

uuXJΧg
u

t

α−

γ
∫α=γα  (9) 

  
a

b=γ  (10) 

  A:  �� �w
2 �	R��Y�=���
 (2m) 

  a:   ����#!�� �w
9�� !Rc b$�(m) 

  b:   sua� !Rc b$�(m) 

  J0:   �9�q�Bessel_�!9� ��7!�� W' S�T� p���� F�   
  α:  �� ,����α/ω ,6�I!�� �w
2 !Rc b$� ,a ��I�?�� ��la� !$% !Rc b$� *+ ,� ,�N�?
�ω ��\ ,

 �R	���1/e2  
  u:  6��=
�� g?
�  

  X:  ( )θsin
λ

π2 ⋅⋅







a  

  θ:   W!$��� ��z� d��% �N��l��(rad). 

,��z� 6%��� ������V 0 = X ������� 5 s�=�� ^0�9< x�R$� x�$N� (9)-�N �
< :  

  

















 −
α

=γα αγ−α−
2

2

222

e e
2

)0,,(
t

g  (11)  

 ����#!�� ��lw�� s�< �$c; x�$N ��V� ������ 5 ��z� 5(7):  

  dBie e
2 4

)0,,(
2

22

222


















 −
αλ

π=γα αγ−α−A
G
t

  (12)  

 suD W; M�� F��b� k�$9�� �NlN M;� ��h�!9�� >G M;� ����#!�� ��la� s�< 6�	N M; �����m.  
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3.6.2  �	
���
� ��� ��  

�� W�¡��� S�R��V� ��@=
�� W���� Hua�V �N�!�� S�� HuD 6$
NY�=���
 .�������V ��N�� F=G�:  

  
F

d=ϕ  (13)  

��D:  
  ϕ:   �N�!�� S��(rad) 

  d:   ,��@=�� !Rc b$�) ^��\4–10 *+ 3–10 ((m) 

  F:  �� W�¡��� S�R��Y�=���
 (m).  

��@=�� |� ^��\ S��	
I4� -#��� Q� v2��
N� . �c�{ W; F\ S�l�� ��@=��� �4�°� ��9c� S�
�
I� |� �V��R� gh
E�!�
�� J�\� 6%�� ����#!�� ��la� F� 0lu�� 4+ ϕ ��� )�$

�� ��\����� �\!m� ^�D� (����#!�� ��la� ��¯ . &����

�
�� �V��R�� gh �c�R�� M�2 S�% �.�³+ F=G� ��@=�� *+ 6$7 4 S��	
I4� -#��� Q� F� �����m� k�$9�� 5 ^�	
6%��
�� �����.  

 �N�
�� �[�� �����
\�V ^��\ 6���7 ����	
��� �c�R�� M�2 ,S�I��� -#��. ������ S�°� 5 S��	
I4� �w
2 M�=7 M; E�!
2�V�
S�I��� J�:� F\ ��$9�� �; �<!
@� �w
2 S��	
I4� J�:� 6
�
�N M; F=G� . ^����� 5 S��	
I4� �w
2 ��lD �w
2 ~�	7�

 �Z
R	� ��D F� _�1N;1/e2.  

 S��	
I4� -#��. s�< �$c; v	w
N�GR-�N �� S�% F� ��z� ��\ :  

  dBi  )1( log 10  
 4

 log 10 2

2
δ+γ−+









λ
π= A

GR  (14) 

��D:  
  A:   S��	
I4� �w
2 S�� -�(2m) 

  λ:   ������� ^����� �[�� S�{(m)  
�  

  
a

b=γ  (15) 

��D:  
  a:   ����#!�� ^i!�� !Rc b$�(m) 

  b:  �`�� ^i!�� !Rc b$� �N��(m).  

 ������� 5 Y��z� s�=�� 6`G�(14)��@=�� ��\ �Rc���� �c�R�� ��
<  . g��
�� E!
9N�GR  S��	
I4� -#��� M�=N M;
_�!N�
�� ��@=��� �w
9�� F� 6< M�=N M;� ,6�I!
�� ������ S�°� 5 . �����
�� S�T� g��
���(14) -#��.� s�< �� 

��� P		¢ W��� W���	
�� S�u
�� Y�u¯ gh C�`� -#A . P���7 W��� sua� *+ ���7 8�� !#��A� ²�`�� g��
�� !�9N�
 J�:�� �N���`�� ^i!��Gassegrain . �
�	�� x�$7 ,�N���� �N�!� F� ��o 8�� �
:�T� ���D 5�b ������� 5 (15) �
< ,_�!9� 

 �����
�� ²�`�� g��
�� S�³+ F=G(14).  
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 6`G� ,���`�� g��
��δ ������� F� ,(14)  !#��A�(dB)��@=�� �2�D 0��� ^����� �c�{ Y�=��� *+ ���7 8��  . ������V�
 6`� !����� b@=�� �
:�TPPM M�2 ,δ W�¡��� S�R�� *+ ��@=�� HuD ���� �N�l7 |� "	�7 ��Y�=���
 . ������V�

 ,���
��� H�	�� H:�� M�=N F�δ F� !`<; dB 0,5–.  

7.2  �
����� �������  

 E!97 ����� 6N�R�� e���� �	�1�� ��la� �w
2�� 5 0�19�� �; ���� ���� C��D 5 6
�7 ���<�<THz 283 ����R
� 
J�:� W; ��\ ]	�c��� |�

��� v�c�
��V ���% . �w
2 !@L\ �V�!c ���7 �N��
�� 5 �c� ��R
��� �N��
�� ����R
� -1
	7�

��la� .��V� S��m� 5 ]��� -�[!�� J�:��� ����1 W���N ��� M�2 0,35 g?� p��� (µrad) ��\ �Nl7 4 �N��7 ^���%� 
dB 2.  

 ]�=@�� 5 E!�LN�2� 3 l�D C��
�� ��\  ��9=��1/e2�����  ]
�=�2 ]7�D� ���7 �6��=�2 ���D� �� ��D F� S�R .
��V J�	7 ��#�19�� ��<!�� M; M�=@�� E!
9N���\ S�I�S�{ �
��� W Y�� ^���� ��;� E�>� -#��
I4� �� v2!

N!u
��´ |V�
�� �N!$��� �RV�.� ������ � 0�19��� �N�m� �D�
�� ���{��� ^���ª�(NASA) ,�����9���< ,���
N�� 5 
��=N!�T� ^�w
�� ��N4��� . 6`G���9=�� 6���
�� -�%���� )|R	
�� gh(a� 6=� 6< 5 6��=�� �N��
�� l� . ��; ��9=��

 «�!L� F� b�¡�� |� ��9=�� e�� 6`
�2 ���N �N��
�� 5 -#��@\ �R%µrad 0,35.2�����  ]7�D� M�?��7 M�
��� M�

 ]
�=�2�6�D�  �� ��=�2 ]
�R
��� ]
2���� M4���7� �N!�� F� E�T� *+ F�W!
@��,C��
�� ��\ .  

 6=@��2  
���� �����
�  µrad 8������ ����� !�   
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 6=@��3  
���� �����
�  µrad 8 !� 6 ���� "�����  

  
  

3  ������� �	 
���
� ����(SNR)  

 0��; bc�
N C��D 5 6
�7 ���<�< �4�$7� �; ������ 0�19�� 5 �4�$7� ����THz 283!���� ^��$V  v�	� ��\ ^
 ����\ 0�f�f *+ ^���+ ����(SNR)6��	
��� ��\  . �RA� ���� �19µ� �
�< 0�f�1�� *+ ^����� ���� ��97�� �
�<�

��
��� 5 .J�\ P[�V�:  

  
t

s

N

P
SNR=  (16) 

��D:  
  Ps:   ������� �Z��	7 �
��D ����	
��� ^����� ^��c -�(4) 

  Nt:   -�^��c0�f�1�� ���$�� |�O F� .  

��9�% ^���+� ��@=�� 0�f�f �³ ]�	
�� FN��$� F� 0�f�1�� ¶�7� . ^!	9�� 5 �`wLV 8�� ��9�A� ^����� ���7�1.3 
��@=�� *+ 6$7 0�
��� F� ��[��% �c�{ *+ . ^!	9�� 5 �`wLV 8�� ��@=�� 0�f�f ��;2.3 �O���� 0�f�1�� *+ ���
2 

��@=�� 6%��.  

� ��f�!
24� vN!{ F\ �m� S�% F� ���� �; �l�� �N!$V ��{�	
� ���� 0��; b$7 8�� ��I�IT� �4����� Q���7 F=G
����
�� ��I�IT�:  

B  ����#� v#��\ �. ��� �N!$��� S��	
I4�� S�I��� ���#���.  
B   «�	��� ��\ ^��
��� ��I�h ��I!�� ��[��� S�=�;1/e2.  
B  	
��� d���T��N�
�� d���; -� ����.  
B   k�!cT� !
�L7�N!NT� ��§ S�; ��\  5QR· k!	�� W!NT�.  
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1.3  ��#�$� %&	'(  

 !Z:N ����\ �; �N��Z��� ����
��� 0���; 0�f�1�� ��$� -� ��9�A� ^���+ M�=
I ,��@=�� �N�� S�� 5 0�1� 0-�
F
�Z�� .� �c7���+ ^��c �@� ,��9�A� ^Pback ,7 8�� |	J�u��� �; s<��=�� �; 0�
��� F� ^!@
�� �c�{ F\ ��@=�� ��\ .

� M�=7��Z��� ��\�I 0���; y<; �N��
��� 0�f�1��,�  -� M�=7 �Z�=� ���z� �N�m� ����T� ��!q ��
%�V b�
o
 ��\ _�
#�� ^�[��
� U�V��Z
��� ��N���� .6=@
I� _���\ J�u��� �; s<��=�� F� 0�f�1�� ����\ �N�� S�� 6%�� M�=7 

6��	
��� .��$� 6< F� ^���$�� 0�f�1�� |O F=G� 6[; F� �D��9�A� ^���+ Y�����O�� .  

E�T� �R¯ ��@=� ��\ ��9�A� ^���+ ��N�
�� Y��a C�
�� 0�![�� J��K
I� -?��N� . ��
���� ��$�� ��� 5 Jl�7�
����
��:  

  D:   6��	
��� �w
2 !Rc b$�(m) 

  γ:   suD ����Y�=���7��f�T� �Rz�   
  ϕ:   ��@=�� �N�� S��(rad) 

  B:   6��	
��� j�R� E!\(µm).  

 �����1: ,6��	
��� S�� Y��D Arec�RI��V ,:  

  2
2

2 m
4

π
 ) 1(














γ−= D

A
rec

  (17) 

 �����2: ,S��	
I4� ��@=� �N�� S�° �����
�� �N��l�� Y��D 'ϕ��V ,�RI:  

  Sr
2

cos1 2 














ϕ−π=′ϕ  (18a)  

-�N �� S�% F� �Z�N!	7 ^g?$�� �N��l�� ������V W!¸ 8��:  

  Sr
4

2πϕ=′ϕ det  (18b)  

 �����3: ,0�
��� p�$� �
�c �N�� Hsky , ��\THz 283 . H�	�� F� ���
%4� H
N ,^!��
� �I�	�� H�	�� F=7 � �'+�
 S��m� 5 ^������3.  

  

 S��m�3  

�)* +�,)��--.���  THz 283 �
�)�	/ ����01	23���   
 456	
�*
� 7�	3���Hsky (W/m

2
/µm/Sr)  

&�,8�  +�,)�� 

��Z��� �¹ M��� 54,45 

W����� ��Z��� 25,32 

H#�?�� ��Z��� 17,99 

6���� 1,000 × 5–10 
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 �����4: ,0�
��� F� ��@=�� ��\ ^��	�� Y��D Psky�RI��V ,:  

  WBAHP recskysky ⋅′ϕ⋅⋅=  (19)  

 �����5: ,p����� v2�7 �2�`< �
�c �N�� Nstar��\ ,��!
��  THz 283 L� M+ ,Hu��� ,�[N W��� �Rz� �N�� S�� 5 !Z:
��f�T� . S��m� 5 ^������ H�	�� F� ���
%4� H
N �I�	�� H�	�� !��
7 � �'+�4 .N � �'+��!�� S�� 5 Hº ���� F= ,�N6»��[ 
Pstar = 0 ^!����� ^�RA� ��9�7 7.  

 S��m�4  
�)* +	2'9� :��� ��	;�--.���  THz 283 4%&	�< =�>)� �
�)�	/ Nstar (W/m

2
/µm)  

&�,8�  +	2'9� :��� ��	;� &�,8� ��� ��	;�:+	2'9�  

Achernar 1,94462 × 9–10 Capella 1,67642 × 8–10 

Aldebaran 2,87647 × 8–10 Pollux 1,61359 × 8–10 

Altair 2,68864 × 9–10 Procyon 1,22510 × 8–10 

Arcturus 3,22719 × 8–10 Rigel 4,76926 × 9–10 

Betelgeuse 3,99278 × 8–10 Rigil Kent 1,67642 × 8–10 

Canopus 2,09429 × 8–10 Sirius 2,09013 × 8–10 

  
 �����6: Hu��� F� ��@=�� ��\ ^��	�� Y��D ,Pstar�RI��V ,:  

  WBANP recstarstar ⋅⋅=  (20) 

 �����7:  ,!R	�� b$� �N��Dplanet ,bond albedo ,χplanet , ,^��	�� ��9�R�� �2�`=���ψplanet �N�� S�� 5 s<�< F� ,
 S��m� 5 ^������ H�	�� F� 6��	
���5 . ,6��	
��� �N�� S�� 5 s<�< ���� F=N � �'+�6»��[ Pplanet = 0 ^!����� ��9�7 

^�RA� 10.  

 S��m�5 

������� ��#�?�� ��	;���� 45�	�2@
� A	�
��� 4&	?B0� C	,@D  

������ 

.?��� E,@  
(m) 

A	�
��  
5�	�2@
� 
������  

��#�?�� ��	;���  
  �2B���������� F�*  

(W/µm) 

���R\  4 866 070 0,119 8,336 × 1610 

^!�l�� 12 108 756 0,75 1,469 × 1710 

�N!�� 6 778 400 0,25 1,043 × 1610 

W!
@�� 142 989 171 0,343 3,950 × 1710 

6D� 120 582 610 0,342 8,228 × 1610 

~�����; 51 204 220 0,3 3.891 × 1510 

M�
�� 49 508 383 0,29 1,373 × 1510 

�7��V 2 308 404 0,145 1,803 × 1210 



 �������ITU-R SA.1742  14

 �����8: �N��l�� Y��D 8��� ����c |	7  ,6��	
��� F� e!L7 �
< s<�=�θplanet�RI��V ,:  

  rad

planet

planet
planet

R

D
=θ  (21) 

��D:  
  Rplanet:   6`± s<�=�� *+ E�T� F� �2����(m).  

 �����9: ���< �'+ θplanet < ϕ ^��	�� s�wL7 ,��\ F� ��@=�� s<�=�� ,Pplanet-�N �� �RI��V ,:  

  W
2

BA

R

P rec

planet

planetplanet
planet ⋅⋅













 χ⋅ψ
=  (22a) 

,4+�  

  W
2 














′θ
′ϕ⋅⋅⋅













 χ⋅ψ
=

planet
rec

planet

planetplanet
planet BA

R

P  (22b) 

 ��Dθ′planet  s<�=�� �����
�� �N��l�� -�� ����c |	N W��� ��@=��-�N �� S�% F� J��	7:  

  S/r
42

cos12

2
planetplanet

planet

πθ
≈























 θ
−π=′θ  (23)  

 �����10: ,��9�A� ^���� ����O�� ^��	�� Y��D Pback , |	7 8��-�N �� S�% F� ��@=�� ��\:  
  Wplanetstarskyback PPPP ++=  (24)  

2.3  C	G�8� H	I�I  

 ��I7 b@< 6��	
�� ���<�=�� �N�N��!�� �4�$74�� ������ 0�19�� 5 �N�N��!�� �4�$7�� �RRK�� ��	��R
�� H:�� 6
�
�
 W����� -#��� -#�f J�
� W' !����(APD) .W����4� -#��`�� -#�1�� J�
$�� ��' b@=�� ^lZ[; 6
�
I� (APD) ^��\ 

 F� �	R�� 50�f�1�� ���¯ b@< 8	R�� .I�
 !$
	b���=� ^��c ��N�
�� S��	
I�  6%���������� ��\ ,J�\ P[�V ,
����7�2 ��	�� 0�f�f . 0�19�� ����V �R�7!�� b���=�� 6`� �19K�� 6%� ^��c ��N�
�� ����	
��� b���=�� M; 4+

 M�=
I ���<�=�� ������� ������=� b���0�f�1�� b@< ��D F� ^���¯ . 5 0�f�1�� *+ ^����� ���� ����; E!�L7�
!���� b@< J�:� 5 ����7 ��D!� H�K1� �Z�	�N S�
�
I4� |#�@�� W����4� -#��`�� -#�1�� J�
$��.  

 ,^�#�l�� 0�f�1�� 6��\ Y��DNE-�N �� S�% F� ,:  

  )1(
1

2 k
G

GkΝE −






 −+=  (25)  

��D:  
  G:  ¼�7s�=��   
  k:  M�!
=��� S��� ¼�7/s	`�� FN�7.  

 0�f�1�� *+ ^����� ���� Y��D F=G�(SNR)-�N �� S�% F� :  

  








+++

=

L

B
FASBSDE

SD

R

Tk
BNeiiPRNBeG

PRG
SNR

42)( )(2 2

222

  (26) 
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��D:  
  e:   M�!
=��� ��w�)19–10 × 1,6 coulomb(  
  PS:   ����	
��� ^����� ^��c QI�
�(W) 

  RD:  �4� -#��`�� -#�1�� J�
$�� ��V��3 W���(APD) 

  kB:   �
�c M��l
��VBoltzmann �
V�`�� (J/K 23 – 10 × 1,38) 

  T:   ^��!a� �[��(K) 

  iS:   ©�c -wRI ���7 ��@=�(A) 

  iB:   P
�
¾ ©�c ���7 ��@=�(A) 

  RL:   ����	�!��=� �
c¡�� �c����� (Ω)  
  NA:   0�f�f Hc�!��=��  
  BF:   6��	
��� j�R� E!\(Hz). 

4  �� �������	
�  
a:  c b$��� ^i!� !RY�=���
 (m) 

A:  �� �w
2 �	R��Y�=���
 (
2
m) 

Arec:   �w
2 �	R��Y�=���7 S��	
I4� (
2
m) 

α:  ������ ,α/ω 

b:   �N���`�� ^i!�� !Rc b$�(m) 

B:   ���!�� j�R� E!\(µm) 

BF:   ���!�� j�R� E!\(Hz) 

c:   0�1�� �\!I(m/s) 

χplanet:  QV�!�� -I�=��4� E�����s<�=�  

d:   ��@=�� !Rc b$�(m) 

D:   �w
9�� !Rc b$�(m) 

Dplanet:   s<�=�� !Rc b$�(m) 

δ:   �c�R�� Y!�7 s��V !#��A���\��@=�� �2�D  (dB) 

e:   M�!
=��� ��w�(coulomb) 

Epulse:   �1���� �c�R��(J) 

f:   W!$��� ��!
��(Hz) 

F:  �� W�¡��� S�R��Y�=���
 (m)  
ϕ:  ��@=�� �N�� S��) ��� rad(  
ϕ′:  ��@=�� �N�� S�° �����
�� �N��l��)  ��!Israd( 
G0:  ��z� ��\ -#��.� s�=� �$cT� �a� (dBi) 

Gr:   S��	
I4� -#��� s�<(dBi)  
gt:  s�=�� ^0�9< 

Gt:   6�I!�� -#��� s�<(dBi) 

γ:  ����sua�  

Hsky:   0�
��� p�$�(W/m
2
/µm/Sr) 
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ib:  5 P
�
¾ ©�	�� ���
�� ��@=�� (A) 

is:   ��@=�� 5 ©�c -wRI ���7(A) 

k:  M�!
=��� S���/s	`�� FN�7 

kB:  �
V�`�� M��l
��V �
�c 

Lt:  6�I!�� !#��% 

Lr:  6��	
��� !#��% 

Lp:  �N��
�� !#��% 

La:  0�12 ������ S�{ ��\ �N�[ !#��% BE�; 

Ls:  !a� 0�19�� ^���% 

λ:  �[��� S�{ (m) 

M:  6�=@
�� 6��� 

NA:  !��=�� 0�f�f 6��\  

NE:   0�f�1�� 6��\^�#�l��  
Nstar:  �
º p���+ v2�7 �2�`< (W/m

2
/µm) 

Nt:  ���$�� |�O F� 0�f�1�� ^��c  
Pave :  6�I!�� ^��c QI�
� (W) 

Pback:  C�O+ ����	
��� ��9�A� ^��c (W) 

Ppeak:   ^����� ^��c(W) 

Pplanet:   0�1� s<�< F� ����	
��� ^��	��(W) 

PS:   ����	
��� ^����� ^��c(W) 

Psky:   0�
��� F� ����	
��� ^��	��(W) 

Pstar:   Hº F� ����	
��� ^��	��(W) 

Pt:   �l���� ¤7�� ^��c QI�
�(W) 

θ:   W!$��� ��z� d��% �N���)��� rad(  
θplanet:   �N��l�� ����c ��c���� s<�<)��� rad( 

2
e/1

θ:  l�� �w
9�� �R	��� ��\ ��lw�� ��N��1/e
2 )��� rad( 

θ′planet:   �����
�� �N��l������c ��c���� s<�< )��� rad( 
R:   6��	
���� 6�I!�� ]V �2����(m) 

RD:   W����4� -#��`�� -#�1�� J�
$�� ��V��3(APD) 

RL:  �
c¡�� �c����� !��=� ����	� 

Rplanet:  6��	
���� s<�=�� ]V �2���� (m) 

td:   6�I!
�� ���� �c���(s) 

tp:   6�I!�� �1�� �c�(s) 

ts:   6�I!
�� ����l�� 6���9��(s) 

tw:   6�I!�� �
�< �c�(s) 

T:   ^��!a� �[��(K) 

ω:  � -#��
I4� Hua�� �R	��� ��\ ��lw1/e
2  

ψplanet:   s<�< �; !
c ^��	� ��9�R�� �2�`=��(W/µm).  
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����� �2  

1  ��
 ������ �������� 	� �����
� ������ ���  

 C��D 5 6
�7 8�� �

��� gh W!#���� S�I��� �w
9� -#��.� s�< Q� ��h sN!	7 H
NTHz 283-�N �� S�% F� :  

 

5,2

4  )105,4(9,0)( 






 ⋅×−−= − ϕ
λ

ϕ D
GG

maxt
 dBi  6[; F�0 ≤ ϕ ≤ ϕm  

  1)( GG
t

=ϕ  dBi   6[; F�ϕm < ϕ ≤ ϕr  

  )( log 30 log 3035)( ϕ−








λ
−+=ϕ D

GG
maxt

  dBi   6[; F�ϕr < ϕ ≤ ϕ1  

  10)( −=ϕ
t

G  dBi   6[; F�ϕ1 < ϕ≤ 180°  

��D:  

 








λ
π= D

G
max

 log 20:   ����#!�� ��la� s�<(dBi) 

  8,25
1

−=
max

GG:   S�T� ���m� "9�� s�<(dBi)  
  D:   �w
9�� !Rc b$�(m) 

  λ:   �[��� S�{(m) 

  ϕ:   ��z� d��% �N��l��)V����[��(  

  






=
D

r 2

180
83,5

π
λϕ:   S�T� ���m� "9�� �N���)��[����V(  

  
rm

ϕϕ 75,0=:   S�T� ���m� "9�� s�< W���N -��#!�� "9�� s�< ��D �N��l��)��[����V(  
  ϕ1:   �N!$V ��9c� 6�9V ���¯ �N�!�� S��)��[����V(. 

2   �������� �	
��� 
	���� ������ ��������  

 C��D 5 6
�7 �

�� �N!#�� S�I�+ �w
9� -#��.� s�< Q� ��h sN!	7 H
NTHz 283-�N �� S�% F� :  

 

5,2

42

0002
10  4)1( log 329,0)( 







 ⋅







+×−−+−= − ϕ

λ
γγϕ D

GG
maxt

 dBi  6[; F�0 ≤ ϕ ≤ ϕm  

  1)( GG
t

=ϕ  dBi   6[; F�ϕm < ϕ ≤ ϕr  

  )log( 30 log 301540)( ϕ−








λ
−γ++=ϕ D

GG
maxt

  dBi   6[; F�ϕr < ϕ ≤ ϕ1  

  10)( −=ϕ
t

G  dBi   6[; F�ϕ1 < ϕ ≤ 180  
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��D:  










λ
π= D

G
max

 log20:   ����#!�� ��la� s�<(dBi)  

)9,277,5( log 301517,2 2

1
γγ −−++=

max
GG:   S�T� ���m� "9�� s�<(dBi)  

D:   �w
9�� !Rc b$�(m) 

λ:   �[��� S�{(m) 

ϕ:   ��z� d��% �N���)��[����V(  








−=
D

r 2

2 λ180
 )γ9,277,5(

π
ϕ:  "9�� �N��� S�T� ���m� )��[����V(  

rm
ϕγϕ ⋅−= )5,071,0(:   -��#!�� "9�� s�< ��D �N��l��S���N s�< 

 S�T� ���m� "9��)��[����V(  
ϕ1:  �N!$V ��9c� 6�9V ���¯ �N�!�� S��  

a

b=γ:  sua� ����  

a:   ����#!�� �w
9�� !Rc b$�(m) 

b:   �N���`�� �w
9�� !Rc b$�(m). 

3  ����� �� ��	
�� 
������ ������ �
���� ��  

 C��D 5 6
�7 �

�� gh �N!#�� S��	
I� �w
9� -#��.� s�< Q� ��h sN!	7 F=GTHz 283-�N �� S�% F� :  

 

5,2

4  )106()( 






 ⋅×−= − ϕ
λ

ϕ D
GG

maxt
 dBi  6[; F�0 ≤ ϕ ≤ ϕm  

  1)( GG
t

=ϕ  dBi   6[; F�ϕm < ϕ ≤ ϕr  

  )(log30 log3042)( ϕ−








λ
−+=ϕ D

GG
maxt

  dBi   6[; F�ϕr < ϕ ≤ ϕ1  

  10)( −=ϕ
t

G  dBi   6[; F�ϕ1 < ϕ ≤ 180°  

��D:  

 








λ
π= D

G
max

 log20:   ����#!�� ��la� s�<(dBi) 

  5,17
1

−=
max

GG:   S�T� ���m� "9�� s�<(dBi)  
  D:   �w
9�� !Rc b$�(m) 

  λ:   �[��� S�{(m) 

  ϕ:  � d��% �N��� ��z)��[����V(  
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  






=
D

r 2

180
 14,5

π
λϕ:   S�T� ���m� "9�� �N���)��[����V(  

  
rm

ϕϕ 65,0=:   -��#!�� "9�� s�< ��D �N��l��S���N S�T� ���m� "9�� s�< )��[����V(  
  ϕ1:   �N!$V ��9c� 6�9V ���¯ �N�!�� S��)��[����V(. 

4  � ������� 	�
��� 
����� ������� �����  

 C��D 5 6
�7 �

�� �N!#�� S��	
I� �w
9� -#��.� s�< Q� sN!	7 F=GTHz 283-�N �� S�% F� :  

 

5.2

42

0003
 10  6)1( log 20)( 







 ⋅







+×−−+= − ϕ

λ
γγϕ D

GG
maxt

 dBi  6[; F�0 ≤ ϕ ≤ ϕm  

  1)( GG
t

=ϕ  dBi   6[; F�ϕm < ϕ ≤ ϕr  

  ( )ϕ−








λ
−γ++=ϕ  log 30 log 30844)(

D
GG
maxt

  dBi   6[; F�ϕr < ϕ ≤ ϕ1  

  10)( −=ϕ
t

G  dBi   6[; F�ϕ1 < ϕ ≤ 180°  

��D:  

  








λ
π= D

G
max

log20:   ����#!�� ��la� s�<(dBi) 

  γ815,15
1

+−=
max

GG:   S�T� ���m� "9�� s�<(dBi)  
  D:   �w
9�� !Rc b$�(m) 

  λ:   �[��� S�{(m) 

  ϕ:   ��z� d��% �N���)��[����V(  

  






⋅=
D

r 2

180
14,5

π
λϕ:  �� S�T� ���m� "9�� �N�)��[����V(  

  ( )
rm

ϕγϕ ⋅−= 3,062,0:   -��#!�� "9�� s�< ��D �N��l��S���N S�T� ���m� "9�� s�< )��[����V(  
  ϕ1:   �N!$V ��9c� 6�9V ���¯ �N�!�� S��)��[����V(  

  
a

b=γ:  sua� ����  

  a:   ����#!�� �w
9�� !Rc b$�(m) 

  b:  b$� �N���`�� �w
9�� !Rc (m).  

´´´´´´´´´´  
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